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Mr. Sc\linsky Geometry

Pythagorean Theorem

Find the missing side of each right triangle rounding to the nearest tenth if necessary
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7. Tanya runs diagonally across a rectangular field that has a length of 40 yards and a width of 30

yards, as shown in the diagram below. .

What is the length of the diagonal, in yards, that Tanya runs?
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8. What is the value of x, in inches, in the right triangle below?
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30 yards

9. Nancy’s rectangular garden is represented in the diagram below.

If a diagonal walkway crosses her garden, what is its length, in feet?

A 17 CQJQ P2 3) AJi61

8 feet

2) 22 4 J5z5 -
2HS =y

=11
f”j%%’f/‘ |

15 feat

10. The end of a dog's leash is attached to the top of a 5-foot-tall fence post, as shown in the

diagram below. The dog is 7 feet away from the base of the fence post.

How long is the leash, to the nearest tenth of a foot?

C

Leqsh

Q) 86
3) 9.0 §7T/)1:)(.Z
R Ve L NGy

4) 12.0
s
G =X

71t

Dog



